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Molecula wight 

h  +555 
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O16) Ans C 
Zduin! biven, Xp=0.25, P-68. 

QH) Ans 2 

Ps Po XB 

s -o 0-25 = 

Ps-Po= o25 X0-8 0-2 

Jotegr TyEe. 

&duton Given P: Sy ton 
XA =0.8 p.° 40 tor 

Xg-0, 

8y- 08x10 + 0- 2 Ya 
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Sduti G ver 

fsdutim 
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hA=, 

Pslutimn (wioo) cloo ) 

After remoing 

Ans 2. 
Soluti m 

I mole af A . 

PAO- 4o0 

P'sodutim 

PA = XA Bo 

XA PA° + XA Pa 

= 80 + y8O = 560 . 

XA'=H2 o25 xg'== 075 
H3 

Imole of B. 

= 4-l=3 moles of B. 

-0-25(yoo) + (0-75) x 60o. 

Decreose in vapo prese = Solutin solti 

Pa B 

= lo0+y50= 5o mm Hg 

Given PA 
Pe 2 Pg 2 

=5 60 -550 =l0mm 

Pr=Patf 



:Gao) Arns 4) R 
Bolutfor 

|A) Malaly 
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a)Dilutesoutiod vapopessure. 
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p)Unity 
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6. COLLIGATIVE PROPERTIES 
Raoult's Law -Relative Lowering of Vapour Pressure 
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